
Example Candidate Responses – Paper 2

Cambridge International AS & A Level
Economics 9708
For examination from 2023



© Cambridge University Press & Assessment 2024 v1

Cambridge Assessment International Education is part of the Cambridge University Press & Assessment. Cambridge 
University Press & Assessment is a department of the University of Cambridge.

Cambridge University Press & Assessment retains the copyright on all its publications. Registered centres are 
permitted to copy material from this booklet for their own internal use. However, we cannot give permission to centres 
to photocopy any material that is acknowledged to a third party even for internal use within a centre.



Introduction.......................................................................................................................................................................4

Contents

Question 1........................................................................................................................................................................6

Example Candidate Response – high..............................................................................................................................6

Example Candidate Response – middle........................................................................................................................10

Example Candidate Response – low.............................................................................................................................14

Question 2......................................................................................................................................................................17

Example Candidate Response – high............................................................................................................................17

Example Candidate Response – middle........................................................................................................................20

Example Candidate Response – low.............................................................................................................................23

Question 3......................................................................................................................................................................26

Example Candidate Response – middle 1.....................................................................................................................26

Example Candidate Response – middle 2.....................................................................................................................30

Example Candidate Response – low.............................................................................................................................32

Question 4......................................................................................................................................................................35

Example Candidate Response – middle 1.....................................................................................................................35

Example Candidate Response – middle 2.....................................................................................................................39

Example Candidate Response – low.............................................................................................................................43

Question 5......................................................................................................................................................................47

Example Candidate Response – high............................................................................................................................47

Example Candidate Response – middle........................................................................................................................50

Example Candidate Response – low.............................................................................................................................54



Example Candidate Responses – Paper 2

4

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Economics, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9708 June 2023 Question Paper 22

9708 June 2023 Mark Scheme 22

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
•	 (b) The candidate could have saved some time as the question did not require any written explanation.
•	 (c) The candidate needed to have added one more link of analysis before including an evaluative statement. For 

example, the candidate might have included the relevance of the price elasticity demand (PED) for fuel and how its 
removal was likely to lead to a greater increase in the rate of inflation. For the evaluative mark, the candidate might 
have referred to the significance in the size of the fuel subsidy, e.g. the higher the subsidy then the larger t  
increase in inflation is likely to be.

       The candidate correctly 
uses the evidence to identify 
that there is a budget deficit and 
that it increases over the period. 
They avoid using a phrase such 
as ‘worsened’ as this would be 
subjective and not factual.
Mark for (a) = 2 out of 2

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – middle Examiner comments

1
1

Common mistakes and guidance
•	 (a) When referring to data in a table, candidates need to recognise whether it is a deficit or surplus and not simply 

state that the numbers are positive or negative. Candidates should use their economics toolkit to interpret the data. 
Moreover, when comparing a data set, candidates should avoid phrases such as ‘worsening/improving’ as this is 
subjective.

•	 (c) If a question asks to consider the extent, then candidates must either qualify a point that they have made or 
offer an alternative perspective. Candidates needed to offer developed lines of reasoning to score the 3 marks  
that supports the question, before including a brief explanation of an alternative conclusion.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level. 
Discuss and analyse the answers with learners in the 
classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine their 
exam technique.

This section explains how the candidate could have 
improved each answer. This helps you to interpret 
the standards of Cambridge exams and helps your 
learners to refine their exam technique.

This section lists common mistakes as well as 
helpful guidance from the examiner. This will help 
your learners to avoid these mistakes. You can 
use this alongside the relevant Examiner Report to 
guide your learners.
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Question 1

Example Candidate Response – high Examiner comments

       The candidate correctly uses 
the evidence to identify that there is 
a budget deficit and that it increases 
over the period. They avoid using a 
phrase such as ‘worsened’ as this 
would be subjective and not factual.
Mark for (a) = 2 out of 2

       The candidate correctly 
constructs an accurate production 
possibility curve (PPC) with a 
movement to a new position  
inside it.
Mark for (b) = 2 out of 2 

       The candidate correctly 
identifies the rise in oil prices as 
representing an increase in the 
costs of production.

       The candidate links this to a 
rise in the rate of cost-push inflation.
Mark for (c) = 2 out of 4

1

2

3

1

2

3

4
4



Example Candidate Responses – Paper 2

7

Example Candidate Response – high, continued Examiner comments

       The first paragraph 
demonstrates an accurate 
explanation of how supply-side 
policy (SSP) – in this case a 
reduction in corporation tax – 
may encourage private sector 
investment in industries other than 
oil.

       The candidate also 
demonstrates some accurate 
analysis of the potential 
weaknesses at the end of the first 
paragraph as governments would 
not be able to control what the 
retained profits might be spent on.

       The candidate’s second 
paragraph contains some limited 
analysis and an evaluative 
statement that monetary policy may 
be more effective.

       The final paragraph merely 
repeats the preceding comments 
and was not awarded marks.
Mark for (d) = 4 out of 6

6

7

8

6

7

8

55
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Example Candidate Response – high, continued Examiner comments

       The candidate’s first paragraph 
provides an accurate distinction 
between both types of taxes before 
providing clear developed lines of 
reasoning on the advantages and 
disadvantages of using direct tax to 
increase tax receipts.

       The candidate proceeds to offer 
a similarly detailed analysis of using 
indirect taxation instead.

       The candidate’s final paragraph 
provides a clear and well-thought-
out evaluative judgement that is 
focused on the question throughout.
Mark for (e) = 6 out of 6

Total mark awarded =
16 out of 20

10

11

99

10

11
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How the candidate could improve their answer
•	 (b) The candidate could have saved some time as the question did not require any written explanation.
•	 (c) The candidate needed to add one more link of analysis before including an evaluative statement. For example, 

the candidate might have included the relevance of the price elasticity demand (PED) for fuel and how its removal 
was likely to lead to a greater increase in the rate of inflation. For the evaluative mark, the candidate might have 
referred to the significance in the size of the fuel subsidy, e.g. the higher the subsidy then the larger the increase in 
inflation is likely to be.

•	 (d) The candidate might have reinforced more on the specific question of the weaknesses of the SSP covered on 
reducing the dependence on oil and natural gases rather than just the potential disadvantages of the problem. This 
would then provide the platform for evaluating SSP against other policies to this specific issue as opposed to just 
offering unexplained assertions.
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Example Candidate Response – middle Examiner comments

       The candidate gains both 
marks for stating that the data 
shows a budget deficit and that 
this deficit increased. The data was 
included to reinforce the point, but 
this was not necessary to gain full 
marks.
Mark for (a) = 2 out of 2

       The candidate achieves a mark 
for an accurate construction of a 
production possibility curve (PPC) 
and then gains the second mark for 
showing an appropriate movement 
from an initial point to one closer to 
the origin. Although the initial point 
‘Y’ is within the PPC, this is fine 
as the second point ‘X’ is closer to 
the origin. Although the ordering of 
the letters was unusual, the arrow 
demonstrates a correct movement.
Mark for (b) = 2 out of 2

       For (c) the candidate is 
awarded 2 of the 3 available marks 
for an explanation of how the 
removal of subsidies might lead to 
an increase in the rate of inflation. 
The commentary at the side of 
the diagram recognises that there 
would be an increase in the cost 
of production and that this would 
contribute to a rise in the rate of 
cost-push inflation.

       The candidate is awarded the 
1 mark available for evaluation 
by noting that the impact on 
inflation might be offset in part 
due to the reduction in aggregate 
demand (AD), caused by the fall in 
government spending.
Mark for (c) = 3 out of 4

1

2

3

4

1

2

3

4
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Example Candidate Response – middle, continued Examiner comments

       For (d) the candidate is 
awarded 2 marks for an accurate 
explanation of how education 
and training could support a 
diversification of the economy.

       The candidate is awarded 1 
mark for recognising the weakness 
of education and training; namely 
that the subsidy may not be used 
effectively. The lack of development 
meant that the second mark was 
not awarded.

       One mark was awarded for 
an attempt to introduce monetary 
policy as a possible alternative 
approach to supply side policies; 
however, this was asserted and not 
explained.

       The candidate’s reference to 
the time lag and conclusion was 
deemed to be too assertive and no 
explanation was given to justify the 
point made.
Mark for (d) = 4 out of 6

5

6

7

8

5

6

7

8
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Example Candidate Response – middle, continued Examiner comments

       The candidate does not 
distinguish between the two taxes 
named in the question; therefore, no 
mark was awarded for this point.

       Once again, no mark is 
awarded as the reference on the 
price elasticity of demand is not 
being explicitly attributed to direct or 
indirect tax.

       The candidate’s conclusion 
does not differentiate between 
direct and indirect tax. Moreover, 
unless it is based on accurate 
explanatory commentary, no marks 
for evaluation can be awarded.
Mark for (e) = 0 out of 6

Total mark awarded =
11 out of 20

9

10

11

9

10

11
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How the candidate could improve their answer
•	 (c) The candidate needed to add one more link of analysis before including an evaluative statement. For example, 

for the third explanation mark, they might have referred to the high weighing of fuel in the measurement of inflation.
•	 (d) The reference to firms not making effective use of the subsidy could have been developed, perhaps by 

explaining that the quality of the training providers might be substandard and how this would limit the success 
of the policy. Alternatively, the candidate may have referred to time lags involved before the workforce has been 
equipped with their new skillsets. When suggesting monetary policy might be an alternative policy to supply side 
policies, then this must be explained, otherwise it is little more than an unexplained evaluation.

•	 (e) The candidate should have explicitly differentiated between the two types of taxes referred to in the question. 
For example, explaining how an adjustment of a direct tax might increase tax revenue before considering any 
limitations of this approach, should have been offered. Then the same approach for an indirect tax should have 
been included, before offering an overall conclusion.
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Example Candidate Response – low Examiner comments

       Although the candidate includes 
the data, the negative value is not 
identified as representing a budget 
deficit. Similarly, the reference 
‘decreasing trend’ is vague and not 
sufficient to demonstrate the deficit 
increasing in size/value.
Mark for (a) = 0 out of 2

       The candidate is awarded 
the first mark for an accurate 
construction of a production 
possibility curve (PPC).

       The candidate is awarded the 
second mark for the labelling of 
point A. Although this was within 
the PPC without any other labelled 
point, it was just sufficient to 
represent rising unemployment of 
resources.
Mark for (b) = 2 out of 2

       The candidate is awarded 1 
mark for the diagram/explanation 
that the increase in the cost of 
production would shift supply to the 
left (this is only rewarded once).

       The candidate is awarded a 
second explanation mark for making 
reference to the rise in fuel prices 
contributing to an overall increase 
in the rate of inflation. There is 
no evidence of any evaluative 
commentary, so this is a one-sided 
response.
Mark for (c) = 2 out of 4

1

2

3

4

5

1

2

3

4

5
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Example Candidate Response – low, continued Examiner comments

       The candidate offers a basic 
explanation of the strengths and 
weaknesses of supply-side policies 
with no explicit or clear implicit 
reference to how ‘education’, plus 
‘building infrastructure’, may help 
diversify the Nigerian economy 
away from its dependence on oil 
and natural gas exports.
Mark for (d) = 1 out of 6

       The candidate is awarded 1 
mark for recognising that increases 
in indirect tax may see a reduction 
in demand which would affect the 
tax revenue gained from sales.

       The candidate is incorrect to 
state that direct taxes are fixed and 
are collected without other income 
factors considered.
Mark for (e) = 1 out of 6

Total mark awarded =
6 out of 20

6

7

8

6

7

8
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How the candidate could improve their answer
•	 (a) The candidate needed to state that the negative value of the government budget balance was a budget deficit. 

Having done this, a precise comparison should have been provided; the deficit increased.
•	 (c) Three clear statements should have been stated showing clear lines of reasoning before offering the possible 

counterbalance to the earlier analysis.
•	 (d) Having offered two possible supply-side policies, the candidate would have benefitted from explaining how their 

successful introduction would reduce the dependence on oil and natural gas. To offer balance on assessments, the 
candidate would have benefitted from comparing the identified policies against alternatives, e.g. monetary policy 
before judging whether or not supply-side policies were the ‘best’ way for Nigeria to diversify the economy.

Common mistakes and guidance
•	 (a) When referring to data in a table, candidates need to recognise whether it is a deficit or surplus and not simply 

state that the numbers are positive or negative. Candidates should use their economics toolkit to interpret the data. 
Moreover, when comparing a data set, candidates should avoid phrases such as ‘worsening/improving’ as this is 
subjective.

•	 (c) If a question asks to consider the extent, then candidates must either qualify a point that they have made or 
offer an alternative perspective. Candidates needed to offer developed lines of reasoning to score the 3 marks that 
support the question, before including a brief explanation of an alternative conclusion.

•	 (d), (e) These two questions require a balanced explanation of two contrasting perspectives before offering an 
evaluative judgement. A common mistake is for candidates to offer a series of valid points that are asserted as 
opposed to being explained. As such, candidates miss an opportunity to be awarded higher marks. Similarly, the 
candidate’s judgement must be clear and directly answer the question. Many candidates tend to restate what has 
already been written and/or do not directly address the question. Finally, unless the candidate offers a balanced 
explanation, they are not able to access the evaluation marks; therefore, it is imperative that a two-sided argument 
is presented.



Example Candidate Responses – Paper 2

17

Question 2

Example Candidate Response – high Examiner comments

       The candidate begins their 
response with an accurate diagram.

       The candidate demonstrates 
a clear understanding of both 
consumer and producer surplus.

       The candidate addresses the 
second element of Question 2(a) 
and illustrates how an increase in 
the price of the product (through 
higher costs) would shift the supply 
curve to the left.

1

2

3

1

2

3
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Example Candidate Response – high, continued Examiner comments

       This section of the candidate’s 
response correctly states that the 
increase in costs will result in a 
reduction in consumer surplus 
and notes that this reduction will 
be lower when the Price Elasticity 
Demand (PED) is elastic due to 
consumers switching to alternative 
options (substitutes).

       The candidate makes an 
accurate comparison with a 
scenario where demand is price 
inelastic, e.g. the lack of available 
substitute goods means the fall 
in consumer surplus is greater as 
consumers have little option but to 
pay the higher price.

       The response ends with a 
simple evaluative statement that 
the magnitude of the change in 
consumer surplus is dependent on 
the PED of the goods in question.
Mark for (a) = 7 out of 8

       The candidate begins their 
response by providing an accurate 
distinction between the two policy 
options: maximum prices and 
transfer payments. This provides a 
good platform for an assessment of 
both approaches.

       The paragraph begins with an 
accurate explanation of the process 
of how maximum prices would 
theoretically ensure essential foods 
remained affordable to low-income 
households.

       The candidate then proceeds to 
offer an appropriate counterbalance 
of two potential limitations of a 
maximum price policy: shortages 
and illegal markets. Note that 
the reason for the emergence of 
shortages is explained (firms less 
willing to supply due to the profit 
motive) rather than simply asserted.

9

4

7

8

5

6

9

4

7

8

5

6
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Example Candidate Response – high, continued Examiner comments

       The candidate then moves onto 
an equally pleasing explanation 
of how transfer payments would 
support low-income families. The 
lines of reasoning are clear and 
concise.

       This section of the paragraph 
offers valid limitations of transfer 
payments and refers to both the 
opportunity cost and potential 
long-run loss of motivation for some 
individuals to increase their own 
income (which would enable them 
to purchase essential food without 
financial support).

       The candidate provides 
a thoughtful evaluation of the 
appropriateness of maximum prices 
and offers new information which 
might influence the government’s 
decision-making process.

       A similar strategy is then 
used to consider whether transfer 
payments is a more preferable 
alternative policy.
Mark for (b) = 10 out of 12

Total mark awarded =
17 out of 20

10

11

10

11

12

13

12

13

How the candidate could improve their answer
(a) The candidate could have developed their evaluative commentary at the end, rather than simply offering a single 
evaluative statement.
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Example Candidate Response – middle Examiner comments

       The candidate begins with an 
accurate definition of consumer 
surplus.

       Although consumer surplus is 
correctly identified on the diagram, 
the mark is not awarded as the 
requirement is for the diagram to 
show both consumer and producer 
surplus.

       The candidate achieves a 
second mark for an accurate 
definition of producer surplus. 

       Although the diagram only 
indicates producer surplus, when 
looking at the previous diagram 
both surpluses are correctly 
highlighted. 

       The candidate accurately labels 
a diagram that recognises that a 
rise in the price of a product due to 
the increased costs of production 
would shift the supply curve to the 
left.

4 4

2

3

2

3

11

55



Example Candidate Responses – Paper 2

21

Example Candidate Response – middle, continued Examiner comments

       The candidate’s response loses 
focus by referring to the possibility 
of compensating factors, such as 
an increase in demand. This is not 
relevant to the question.

       The reference to the 
importance of the elasticity of the 
good is ambiguous as the candidate 
does not explicitly state which 
elasticity they are referring to.

       Similarly, the candidate’s 
conclusion is brief and repeats what 
has already been provided.
Mark for (a) = 4 out of 8

       The candidate begins their 
response by defining what a 
maximum price is and why they are 
used by authorities. An accurate 
diagram is introduced but is not 
referred to and could have been 
used more effectively as a platform 
to show how it might benefit 
low-income households and the 
potential limitations of the policy.

       The candidate offers a simple 
explanation as to why poorer 
households might gain from a 
maximum price on essential foods 
but includes a pleasing reference 
to such households having a lower 
opportunity cost when buying food 
which, in turn, would increase their 
standard of living.

       The candidate offers a good 
explanation of the potential 
problems of a maximum price 
policy; however, the response 
might have been enhanced if 
the candidate had referred to the 
diagram to demonstrate why the 
shortage would arise.

9

7

8

6

10

11

9

7

8

6

10

11
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Example Candidate Response – middle, continued Examiner comments

       The candidate offers a 
developed analysis of the 
alternative policy of transfer 
payments and accurately explains 
this within the context of the 
question.

       Following a similar structure to 
the first policy, the candidate offers 
some developed analysis of why 
transfer payments might reduce the 
incentive to work (and the potential 
consequences for economic growth) 
and the impact on national debt.

       The candidate begins an 
attempt to draw the response to an 
overall conclusion; however, the 
reference to maximum prices only 
being effective if set below the free-
market equilibrium was asserted 
rather than established.

       Similarly, the candidate’s 
reference to transfer prices only 
working in the short run is not 
developed and the reference to 
costs repeats what had already 
been written.
Mark for (b) = 7 out of 12

Total mark awarded =
11 out of 20

13

12

14

15

13

12

14

15

How the candidate could improve their answer
•	 (a) The candidate should have focused on the relevance of the price elasticity of demand for the product in 

question in establishing the extent of the reduction in consumer surplus.
•	 (b) Although a diagram was not required, the candidate (having drawn one) could have used it as the basis for the 

response which would have shown greater depth of analysis.
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Example Candidate Response – low Examiner comments

       The candidate offers a concise 
but accurate definition of consumer 
surplus.

       Although the candidate offers 
two separate diagrams, as opposed 
to a single one, the consumer and 
producer surplus are both identified 
on accurately drawn diagrams.

       The candidate offers a flawed 
definition of producer surplus and 
refers to the price the producer is 
willing to pay as opposed to the 
price that they are prepared to 
accept.

       The candidate correctly 
recognises that the increased 
price of the product as a result of 
increased production costs would 
shift the supply curve to the left.

       The candidate offers a vague 
series of unexplained assertions.

       The candidate is not awarded 
any marks for evaluation as the 
response merely repeats that 
consumer surplus would fall and, 
although refers to the price elasticity 
of demand, they do not explain why.
Mark for (a) = 3 out of 8

4

2

3

1

5

4

2

3

1

5

66
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Example Candidate Response – low, continued Examiner comments

       The candidate’s response 
opens with a recognition that a 
maximum price would only be 
effective if set below the free-
market equilibrium, before using an 
accurate diagram to explain how 
food would become more affordable 
to low-income households, plus how 
shortages might occur.

       The candidate offers a valid 
explanation of what transfer 
payments are and that they might 
reduce income inequality. However, 
the lines of reasoning might have 
offered more development by 
detailing the mechanism by which 
they work. Similarly, the reference 
to opportunity cost and the impact 
on other government spending is 
correct but lacks explanatory depth.

77

88
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Example Candidate Response – low, continued Examiner comments

       The candidate attempts to 
compare both options as part of 
an evaluative conclusion. Whilst a 
number of valid points are raised, 
they are mainly unexplained 
assertions; for example, why is the 
financial situation of the government 
relevant?
Mark for (b) = 6 out of 12

Total mark awarded =
9 out of 20

99

How the candidate could improve their answer
•	 (a) The candidate would have benefited from providing accurate definitions to both concepts in the question and 

ensuring that the relevance of any point raised is explained and not asserted. For example, a recognition of the 
importance of price elasticity of demand is evident, but an explanation of why it is important is absent.

•	 (b) The candidate would have been awarded a higher mark by using developed lines of reasoning to explain the 
advantages and disadvantages of both policy options. Whilst many relevant points are raised, the reason for their 
importance is not explicit; this is essential to be awarded the higher marks.

Common mistakes and guidance
•	  If a diagram is included, then it must be accurately labelled and appropriately referred to when analysing a specific 

point; without such references, the diagram will add little to the response.
•	  Any relevant factor identified by the candidate must be explained rather than asserted. For example, in (a), a 

candidate must go beyond stating the importance of PED; they need to demonstrate its importance.
•	  Evaluation does not need to appear at the end; it can appear throughout the response. However, when making an 

overall conclusion, it should be focused on the question and not simply repeating what has already been written.
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Question 3

Example Candidate Response – middle 1 Examiner comments

       The candidate accurately 
makes reference to demand being 
equal to supply and that there is no 
tendency to change.

       The candidate provides 
an accurate diagram and the 
accompanying explanation is 
correct.

       The candidate offers a 
demand-side approach to the 
answer; although the supply curve 
is not labelled, there is a shift in the 
demand curve to the right. However, 
the candidate does not convincingly 
establish that this is the demand 
curve for goods. Moreover, there 
is no acknowledgement that this 
would only be accurate for normal 
(or luxury goods).

11

2

3

2

3
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Example Candidate Response – middle 1, continued Examiner comments

       This section of the response is 
not developed in terms of inferior 
goods and lacks clarity.

       The candidate now considers 
the question from a supply-side 
approach and considers the 
increase in wages as a rise in the 
cost of production. An accurate 
diagram is provided with the supply 
curve shifting to the left. However, 
the relevance of both price elasticity 
of demand and supply (of the goods 
is not included).

       The candidate offers a simple 
unexplained point of assertion of the 
relevance of whether the industry is 
capital intensive. The point needed 
to be developed further.
Mark for (a) = 5 out of 8

5

6

6

4

5

4
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Example Candidate Response – middle 1, continued Examiner comments

       The candidate offers a simple 
explanation of how subsidies 
might incentivise entrepreneurs 
to innovate but asserts that this 
would increase LRAS. However, the 
development lacks a full explanation 
and the link between subsidies 
and increased long-run economic 
growth is not established. Similarly, 
references to the opportunity cost of 
granting subsidies, lower barriers to 
entry and the relevance of the PES 
are asserted rather than explained.

       The candidate considers the 
relevance of the size of the labour 
force and considers the importance 
of immigration; however, the link 
between increased immigration 
and increased long-run economic 
growth is asserted rather than 
explained.

7

8

7

8
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Example Candidate Response – middle 1, continued Examiner comments

       Although the importance of 
the quality of the immigrant labour 
is acknowledged, the explanation 
lacks full development.

       As with the other factors of 
production identified, the relevance 
of land is noted, but its importance 
lacks explanatory depth.

       The candidate makes a valid 
attempt to judge whether or not 
encouraging entrepreneurship is the 
most effective way to achieve long-
run economic growth, but the points 
are stated rather than explained.
Mark for (b) = 7 out of 12

Total mark awarded =
12 out of 20

How the candidate could improve their answer
•	 (a) The candidate might have focused on the demand-side approach and concentrated on how increases in 

disposable income would affect the demand; therefore, the price and quantity demanded/supplied of both normal 
and inferior goods.

•	 (b) The candidate might have explicitly established the link between how each factor of production might result in 
long-run economic growth. Such depth of discussion would have increased the chances of the candidate achieving 
a Level 3 response.

9

10

11

9

10

11
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Example Candidate Response – middle 2 Examiner comments

       The candidate correctly 
demonstrates that the equilibrium 
price is where demand is equal to 
supply.

       The candidate provides an 
accurate and fully labelled diagram.

       Although the candidate does 
not explicitly state the idea that 
there is no tendency for equilibrium 
price and quantity to change at 
equilibrium, there is sufficient 
coverage that demonstrates the 
economy will achieve this stability 
through the price mechanism.

       The candidate adopts a 
demand-side approach to the 
increase in wages and provides a 
clear explanation of the increase 
in both the equilibrium price and 
quantity for normal goods.

       Although the candidate includes 
the impact on price and quantity for 
both normal and inferior goods on 
the same diagram, this could have 
been included on two separate 
diagrams; however, the candidate is 
efficient with the use of their time by 
using one diagram.

       The candidate uses the 
diagram to explain the impact on 
the equilibrium price and equilibrium 
quantity in the market for inferior 
goods.

       The candidate concludes that 
the overall impact on price and 
quantity ultimately depends on the 
nature of the goods.
Mark for (a) = 7 out of 8
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Example Candidate Response – middle 2, continued Examiner comments

       The candidate provides an 
incomplete AD/AS diagram before 
explaining how subsidies and a 
reduction in tax might encourage 
increased production. However, the 
paragraph focuses predominately 
on how increased growth would be 
the consequence of reduced costs 
rather than concentrating on the 
role/importance of enterprise.

       The candidate focuses on how 
fiscal and monetary policy might 
support increased rates of long-run 
economic growth as opposed to 
concentrating on other factors of 
production.

       Since the response has 
minimal coverage of the importance 
of concentrating on enterprise 
and nothing on the other factors 
of production, the attempted 
evaluation is not sufficiently based 
on the set question.
Mark for (b) = 2 out of 12

Total mark awarded =
9 out of 20

How the candidate could improve their answer
(b) The candidate should have concentrated on how each of the factors of production might best support long-run 
economic growth and reached a conclusion as to which factor might be more/less important than another in a given 
scenario, as opposed to the policy instruments that might drive said growth.
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Example Candidate Response – low Examiner comments

       The candidate’s diagram 
is incomplete with neither the 
equilibrium price nor quantity 
labelled.

       Despite using the term, 
‘provided’ as opposed to supplied, 
the response is sufficient to be 
awarded 1 mark.

       The candidate offers a supply-
side approach that interprets the 
increase in wages as representing 
an increase in the costs of 
production and ultimately an 
increase in the equilibrium price and 
reduction in the equilibrium quantity.
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Example Candidate Response – low, continued Examiner comments

       The candidate now offers 
a demand-side approach and 
provides an implicit explanation 
as if they were purchasing normal 
goods. However, the demand and 
supply side approaches cannot both 
be rewarded; as such the ‘best’ one 
was counted.

       The candidate’s evaluation 
is vague and not relevant to the 
question (from either approach).
Mark for (a) = 2 out of 8
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How the candidate could improve their answer
•	 (a) The candidate needed to ensure that all diagrams were accurate and fully labelled. They should also have 

ensured that, when considering the impact on the equilibrium price and quantity from an increase in wages, they 
should focus on the nature of the goods in question; namely the importance of whether the goods are normal/
luxury or inferior.

•	 (b) The coverage of entrepreneurship should have been fully established rather than asserted. Moreover, the 
candidate might have chosen to analyse this in addition to offering more than one other factor of production. This 
would then have given sufficient balance for the candidate to provide a relevant evaluative conclusion.

Common mistakes and guidance
•	 (a) If a diagram and specific economic term is included in the question, it is imperative that the diagram is accurate 

and fully labelled, whilst a complete rather than partial definition is offered.
•	 (a) When the impact of an increase in income is required to be analysed in terms of the impact on equilibrium price 

and quantity, the response should focus on normal and inferior goods as opposed to just a basic explanation that 
assumes the demand (and therefore the price and quantity) will rise.

Example Candidate Response – low, continued Examiner comments

       This section of the candidate’s 
response makes a number of valid 
comments regarding the manner by 
which supporting enterprise might 
support an increase in long-run 
economic growth, before offering a 
brief explanation of the importance 
of land. However, these points, 
whilst relevant, are often asserted 
and lack explanatory depth.

       Given the brevity of the 
preceding analysis, the attempted 
conclusion is brief and assertive in 
nature.
Mark for (b) = 4 out of 12

Total mark awarded =
6 out of 12 
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Question 4

Example Candidate Response – middle 1 Examiner comments

       The candidate begins the 
response with an accurate definition 
of absolute advantage.

       Although, at this stage, 
the candidate does not refer to 
comparative advantage, they 
establish that a country may have 
an absolute advantage in the 
production of two goods but should 
produce the goods that it can 
produce with the lowest opportunity 
cost.

       The candidate gives a definition 
of comparative advantage.

       The candidate provides a brief 
analysis of the potential advantages 
of basing trading decisions on the 
principle of comparative advantage, 
e.g. ‘a greater number of products 
to be produced overall’.

       The candidate provides balance 
here with a thorough analysis of 
the potential limitations of basing 
international trade on whether or 
not a country has a comparative 
advantage; for example, the 
significance of transport costs, the 
exchange rate and factor immobility.
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Example Candidate Response – middle 1, continued Examiner comments

       The candidate finishes this part 
of the response with an appropriate 
evaluative explanation of the 
relative importance of comparative 
advantage and implies that other 
factors may be more important.
Mark for (a) = 8 out of 8

       The candidate demonstrates 
a thorough understanding of 
protectionism and identifies a range 
of examples of how a government 
could use protectionist measures. 
For example, the process by which 
tariffs could be placed on imports 
is explained and how this would 
reduce the current account deficit is 
adequately analysed.
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Example Candidate Response – middle 1, continued Examiner comments

       The candidate’s response 
offers an equally competent 
explanation of how other policy 
options might reduce a deficit on the 
current account; namely exchange 
controls and export subsidies.

       The candidate provides a 
pleasing counterbalance of some 
of the potential limitations from 
adopting protectionist policies; 
increased domestic prices, 
retaliation and the reliance on 
imports. However, the candidate 
does not offer any alternatives 
to protectionist measures to 
broaden their discussion. As 
such, the response is confined to 
protectionism only.
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Example Candidate Response – middle 1, continued Examiner comments

       The attempted conclusion 
unfortunately gains no marks as 
the overall merits of protectionist 
policies need to be considered 
against alternative approaches, 
e.g. supply-side policies such 
as education/training and the 
development of infrastructure within 
an economy.
Mark for (b) = 4 out of 12

Total mark awarded =
12 out of 20

1010

How the candidate could improve their answer
(b) The candidate needed to adopt the same level of detail to alternative policies, such as education. This would have 
then enabled them to weigh up all approaches in deciding whether or not protectionism is the ‘best’ way.
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Example Candidate Response – middle 2 Examiner comments

       The attempted definition is 
imprecise.

       The candidate provides an 
accurate definition of comparative 
advantage.

       The candidate makes a link to 
increased output and the resultant 
standard of living.

       The candidate makes reference 
to the fact that transportation costs 
are assumed to be zero when 
using the principle of comparative 
advantage.
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Example Candidate Response – middle 2, continued Examiner comments

       The candidate considers 
factor mobility and the potential 
drawbacks of specialisation. The 
attempted conclusion offers a brief 
statement that several factors 
should be considered, which does 
not add anything of value to the 
preceding commentary.
Mark for (a) = 4 out of 8

       The candidate makes a general 
statement outlining the components 
of the current account balance, 
before explaining what a current 
account deficit (CAD) means.

       There is an implicit explanation 
of what a tariff is with the 
understanding that its imposition 
would increase the price of imports 
and lower their demand as part of 
an expenditure-switching process. 
The reference at the end of the 
paragraph on how this might reduce 
a CAD is brief, but accurate.
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Example Candidate Response – middle 2, continued Examiner comments

       A similar approach is adopted 
where the introduction of a system 
of quotas is employed and once 
again, the process of how this 
might improve the current account 
balance is evident.

       The candidate correctly refers 
to the relevance of the price 
elasticity of demand of the imported 
goods that the tariff would be 
placed upon. The response would 
have been enhanced by a little 
more elaboration of why (despite) 
the increase in price, the value of 
imported goods and services may 
not fall.

       The candidate correctly 
attempts to explain alternative 
methods to protectionism that might 
be introduced by governments. 
However, the consideration of 
monetary policy is limited with 
undeveloped lines of reasoning 
provided. Similarly, the response to 
export subsidies asserts that export 
revenue may rise, but without 
explaining why.
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Example Candidate Response – middle 2, continued Examiner comments

       The attempted conclusion is 
limited and is essentially a summary 
of the previous point made without 
offering an overall judgement.
Mark for (b) = 5 out of 12

Total mark awarded =
9 out of 20

1111

How the candidate could improve their answer
•	 (a) It is vital that key terms in a question are accurately defined.
•	 (b) The candidate needed to ensure that the discussion of alternative policies contained developed lines of 

reasoning. For example, an explanation of how interest rates might incentivise investment that could improve 
productivity, which would reduce average costs and enable producers to promote export-driven growth that would 
reduce a current account deficit.

•	  (b) The candidate needed to provide a conclusion (based on the preceding content) whether protectionism is (or 
is not) the best way to correct a deficit in the current account of the balance of payments, as opposed to merely 
repeating what had already been considered.
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Example Candidate Response – low Examiner comments

       Although the candidate 
provides an accurate definition 
of comparative advantage, the 
description of absolute advantage 
is ambiguous and does not refer 
to both countries having the same 
number of factors of production.

       The diagrams and 
accompanying calculations of 
opportunity cost are not relevant to 
the question.
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Example Candidate Response – low, continued Examiner comments

       The candidate continues to 
lose focus from the requirements of 
the question. They concentrate on 
how differences in opportunity cost 
may influence the pattern of trade, 
rather than the need to consider the 
advantages and disadvantages of 
using the theory in deciding whether 
to trade or not.
Mark for (a) = 1 out of 8

       The candidate offers a simple 
list of three potential examples of 
protectionist policies. However, 
there is no reference to what the 
current account of the balance of 
payments is.
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Example Candidate Response – low, continued Examiner comments

       This section of the response 
provides a brief explanation of how 
a range of policies might reduce the 
value of imports but does not fully 
develop these points; for example, 
tariffs are not explicitly mentioned.

       An attempt to provide analytical 
balance is presented, although 
the lines of reasoning are not fully 
developed and are somewhat 
assertive in nature.

       Although the candidate does 
state that protectionism is the best 
way to correct a (current account) 
deficit, there is no convincing 
development to justify their 
conclusion.
Mark for (b) = 4 out of 12

Total mark awarded =
5 out of 12
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How the candidate could improve their answer
•	 (a) The candidate needed to provide accurate definitions for both absolute and comparative advantages. Moreover, 

the candidate needed to remain focused on the specifics of the question, by concentrating on a discussion of the 
advantages and disadvantages of trade based on comparative advantage.

•	 (b) The candidate would have benefited from providing developed lines of reasoning of the advantages and 
disadvantages of protectionist policies (and alternatives) before providing an overall judgement based on the 
discussion given.

Common mistakes and guidance
•	  Some candidates gave imprecise definitions of absolute advantages and did not note that the higher output of 

goods and services of one country with another is achieved with the same set of factor endowments.
•	  When questions refer to whether or not a specific policy/approach is the ‘best’ way to tackle a specific problem, 

candidates should respond by providing clear lines of reasoning of both the advantages and disadvantages of 
this policy/approach before following the same strategy with an alternative policy/approach. Having successfully 
completed this, a justified conclusion based on which approach is ‘best’ should follow. Without offering an 
alternative policy/approach, the candidate is unlikely to be able to evaluate the set question.
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Question 5

Example Candidate Response – high Examiner comments

       The candidate provides an 
accurate definition of both types of 
inflation. The mark for demand-pull 
inflation is awarded as there is an 
understanding that the growth in 
AD is not matched by an equivalent 
increase in AS.

       The candidate gives a clear 
explanation of the difference 
between both causes of inflation.

       The candidate explains with 
appropriate lines of reasoning why 
a depreciation of the exchange rate 
might increase the value of exports 
and fuel demand-pull inflation.

       The explanation of how the 
depreciation of the exchange rate 
might result in a rise in import prices 
and cost-push inflation is sufficient.
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Example Candidate Response – high, continued Examiner comments

       The remainder of the 
candidate’s response provides an 
explanation of a range of scenarios 
where cost-push or demand-pull 
might be more likely. However, 
these were not set against the 
requirements of the question, e.g. 
that the country in question has few 
natural resources. Consequently, no 
marks for evaluation were awarded.
Mark for (a) = 6 out of 8

       The candidate identifies a 
range of policies which indicates 
that three policies may be 
discussed.

       There is a competent 
discussion of the appropriacy of 
monetary policy in controlling a 
high rate of inflation. The line of 
reasoning is strong, as evidenced 
by the mechanism in which an 
increase in interest rates would 
increase the reward from savings, 
increase the cost of borrowing and 
how this could reduce consumption 
and aggregate demand. Moreover, 
the reference to time lags is 
relevant, but might have been 
explained as opposed to asserted.
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Example Candidate Response – high, continued Examiner comments

       A similar approach is used to 
suggest how fiscal policy would be 
an alternative way to control high 
rates of inflation. A clear line of 
reasoning is included to explain how 
increased rates of direct tax would 
reduce disposable income and, 
in turn, consumption, aggregate 
demand and inflation.

       Having considered both 
aspects of demand-management 
policies, the candidate explains how 
governments may adopt a supply-
side approach. The candidate uses 
their time efficiently and presents 
lines of reasoning to show how 
inflation might be reduced via 
increasing capacity resulting from 
improving education alongside 
innovation and technology.

       The attempted conclusion 
is somewhat brief and offers 
some repetition of the preceding 
discussion. However, the candidate 
suggests that the most appropriate 
policy would depend on the cause 
of inflation.
Mark for (b) = 10 out of 12

Total mark awarded =
16 out of 20
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How the candidate could improve their answer
(b) The candidate’s conclusion could have been developed by referring to the potential for macro-economic trade-offs 
to occur, in addition to any government priorities that might exist.
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Example Candidate Response – middle Examiner comments

       The candidate explains what 
demand-pull inflation is. Although 
they do not explicitly refer to AD 
growing at a rate that is matched by 
AS, the reference to the economy 
being at full capacity was deemed 
sufficient.

       The candidate’s definition of 
cost-push inflation was accurate.

       Although the candidate 
recognises the impact of a 
depreciating exchange rate on the 
value of exports, the link between 
this and an increase in demand-pull 
inflation could have been developed 
more, e.g. an increase in AD due to 
a rise in the value of net trade. 
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Example Candidate Response – middle, continued Examiner comments

       The impact of the depreciating 
exchange rate on cost-push 
inflation due to rising import costs 
is stronger due to the reference 
that the country (with few natural 
resources) is more likely to need to 
import them.

       The candidate’s conclusion 
is strong and clearly offers a 
judgement that is entirely set 
against the backdrop of the 
country facing an exchange rate 
depreciation and has few natural 
resources of its own.
Mark for (a) = 7 out of 8

       The candidate demonstrates 
an understanding of both the 
tools of monetary policy and how 
a contractionary monetary policy 
might reduce a high rate of inflation.
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Example Candidate Response – middle, continued Examiner comments

       Although the candidate 
identifies the link between higher 
interest rates and the increased 
incentive to save (reduced incentive 
to borrow and consume), the 
reference to a ‘higher’ exchange 
rate affecting perceived export/
import prices are asserted rather 
than explained.

       The candidate offers supply-
side policies as an alternative to 
monetary policies, but whilst links of 
development are referred to, they 
lack adequate detail.
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Example Candidate Response – middle, continued Examiner comments

       The candidate offers a range 
of undeveloped assertions on 
time lags and possible recessions 
without convincingly explaining why. 
The conclusion contains several 
undeveloped points but does 
suggest that monetary policy is best 
suited to the short run (and supply-
side policies for the long run).
Mark for (b) = 5 out of 12

Total mark awarded =
12 out of 20

99

How the candidate could improve their answer
•	 (b) The candidate needed to ensure that all policies discussed are fully explained and that the reader is clear on 

both the advantages and disadvantages of the policies discussed.
•	 (b) The candidate’s conclusion would have been enhanced by explaining rather than asserting why monetary 

policy would be effective in the short run.
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Example Candidate Response – low Examiner comments

       The attempted definition of 
demand-pull inflation is incorrect. 
The candidate assumes that an 
increase in AD will increase the 
rate of inflation. Clearly, this would 
not be the case should a sufficient 
negative output gap remain.

       Although a diagram is not 
required for this response, the 
candidate’s explanation of the 
diagram and the statement that if 
‘there is no more spare capacity’ 
was sufficient for an understanding 
of demand-pull inflation. 
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Example Candidate Response – low, continued Examiner comments

       The definition/explanation of 
cost-push inflation is sufficient.

       The candidate’s explanation 
of the depreciating exchange rate 
on cost-push inflation is limited and 
does not reference the significance 
of the country having few limited 
resources. The response contains 
no reference to the depreciating 
exchange rate on demand-pull 
inflation via increased export 
values.
Mark for (a) = 3 out of 8
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Example Candidate Response – low, continued Examiner comments

       The candidate demonstrates 
some knowledge of monetary policy 
by referring to interest rates and the 
money supply.

       There are some inaccuracies 
and confusion with this section 
of the response. The candidate’s 
reference to increased interest rates 
decreasing the cost of borrowing 
and incentivising consumption 
is incorrect and invalidates the 
following analytical lines of 
reasoning.

       The explanation of fiscal policy 
contains some brief explanation of 
how increased income tax would 
reduce AD via reduced disposable 
income.
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Example Candidate Response – low, continued Examiner comments

       The candidate’s reference to 
possible migration and ‘brain drains’ 
might have been developed more 
as could the assertion that it may 
result in cost-push inflation.
Mark for (b) = 3 out of 12

Total mark awarded = 
6 out of 20

88

How the candidate could improve their answer
•	 (a) The candidate would have benefitted from clearly outlining the likely effect of a depreciating currency on the 

value of both exports and imports. They could have then used this as the basis in offering a conclusion that a 
country with few natural resources is most likely to experience cost-push inflation.

•	 (b) The candidate needed to concentrate not only on the relevant policy instruments, but also the directional 
change. Any credit for an understanding of the tool of monetary policy is likely to be limited if the analytical 
application of them is incorrect.

Common mistakes and guidance
•	  Candidates should ensure that any definition of demand-pull inflation includes a recognition that the increase in the 

growth of AD is not matched by an increase in AS.
•	  Changes in the rate of interest should be considered from both an import and export market perspective. To not 

cover both is likely to reduce the marks awarded for analysis and potentially reduces a possible route of evaluative 
discussion.

•	  When demand or supply-side polices are examined, then all lines of reasoning should be fully explained and not 
simply asserted. If done so effectively, then candidates are more likely to achieve a Level 3 mark.
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